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ABSTRACT. In this paper, we introduce the concepts of a fuzzy
essential-small submodule and a fuzzy small-essential submodule of
a module. We investigate various properties of such fuzzy submod-
ules. It is also shown that the Jacobson L-radical is the sum of all
essential-small L-submodules of a module. We also prove that the
L-socle is the intersection of all small-essential L-submodules of a
module.
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1. INTRODUCTION

In 1965, Zadeh [7] introduced the concept of a fuzzy subset as a gen-
eralization of the characteristic function in classical set theory. Later in
1971, Rosenfled [1] defined the concept of the fuzzy subgroup of a group.

Negoita and Ralescu [2] were the first ones to introduce a fuzzy sub-
module. Pan [5] studied fuzzy finitely generated modules and fuzzy
quotient modules. The study of fuzzy submodules was also carried out
by Zahedi [9]. Kalita [3] defined a fuzzy essential submodule and proved
some characteristics of such submodules. Rahman and Saikia [10]
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defined a fuzzy small submodule. Basent [3] proved some properties of
fuzzy superfluous modules.

In this paper, we introduce the class of all fuzzy essential submodules
to generalize fuzzy small submodules and the class of all fuzzy small
submodules to generalize fuzzy essential submodules respectively.

2. PRELIMINARIES

Throughout in this paper R denotes a commutative ring with identity,
M a unitary R-module with zero element §. We use the notations
“C” and “<” to denote inclusion and submodule respectively. We
recall some definitions from Moderson and Malik [0].

Definition 2.1. [6] A fuzzy subset of an R-module M, is a mapping
M —[0,1].

We denote the set of all fuzzy subsets of an R-module M by [0,1]M
and g by the set p ={z € M | u(x) = 1}.
Also, we denote the support of a fuzzy set u by p* and is defined by
wt = {w € M| p(z) > 0},

Definition 2.2. Let L be a complete Heyting algebra. An L-subset of
an R-module M is a mapping p: M — L.

We denote by LM the set of all L-subsets of M.

Definition 2.3. [6] If N C M and « € [0, 1], then ay is defined as,

an(z) = {oz, ifxEN,

0, otherwise.

If N = {z}, then «, is often called a fuzzy point and is denoted by
Xa-
If « = 1, then 1y is known as the characteristic function of N and is
denoted by xn.
We recall the following well known properties.
If p,o €[0,1]M, then
(i) p C o if and only if pu(x) < o(x),

(nUo)(z) = maz{p(z), o (33))}} = p(x)Vo(r),

i)
) (wno)(z) =min{u(z),o(x)} = plx) No(z),
) (u+o0)(z) =V{uy)Ao(z) |y,z € M,y+2z ==z}, forallz € M.

(i
(iii

(iv
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Definition 2.4. [6] Let X and Y be two nonempty sets and f: X — Y
be a mapping. Let pu € [0,1]% and o € [0,1]¥. Then the image
f(p) € [0,1]Y and the inverse image f~'(c) € [0,1]X are defined as
follows: for all y € Y,

V{p(z) |z e X, fx) =y}, if [~ (y) # o,

0, otherwise.

) (y) = {

and f~1(0)(z) = o(f(z)) forall z € X.

Definition 2.5. [6] Let ¢ € [0,1]% and u € [0,1]M
We denote by £ () p, the fuzzy subset of M defined by

({@u)(m):\/{/\ E(ri) A p(zi))|ri € Ry e M1 <i<mn,neN,
=1

Zrle } for all z € M.

=1

Definition 2.6. [6] Let M be an R-module and L be a complete Heyting
algebra. An L subset p of an R-module M is called an L-submodule of
M, if for every x,y € M and r € R the following conditions are satisfied:

() ul6) =1.
(i) p(x —y) > p(@) A ply),
(i) ul(re) > (o).

We denote the set of all L-submodules of an R-module M by L(M).

If L = [0,1], then p is called a fuzzy submodule of M. The set of all
fuzzy submodules of M is denoted by F(M).

Definition 2.7. [6] Let u, v € F(M) such that 1 C v. Then the quo-
tient of v with respect to p, is a fuzzy submodule of M /u*, denoted by
v/u, and is defined as follows:

(B)([2) =V {v(2) | z € [2]}, Vo€ v,

I
where [z] denotes the coset x + u*.

Definition 2.8. [6] Let € [0,1]™. Then N{v | u C v,v € F(M)} is
a fuzzy submodule of M. It is called the fuzzy submodule generated by
the fuzzy subset p and is denoted by (u).
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Let ¢ € F(M). If ¢ = (u) for some pu € [0,1]M, then p is called a
generating fuzzy subset of &.

Lemma 2.9. [0] Let p,v € L(M). Then p+v € L(M).

Lemma 2.10. [0] p. is a submodule of an R-module M if and only if
w18 a fuzzy submodule of M.

Proposition 2.11. [3] Let pu,v € F(M). Then (uNv)s = pe N vy,
(LU V) = py Uvi. Further if, p and o have finite images, then
(M+0>* = Ux + Ox.

Proposition 2.12. [3] If u and o are two fuzzy submodules of an
R-module M such that p C o, then (o/p)x = 0x/ pix-

Theorem 2.13. [3] A submodule A of an R-module M is essential in
M if and only if xa is an essential fuzzy submodule of M.

Theorem 2.14. [10] Let p € F(M). Then pn <y M if and only if
My K M.

Theorem 2.15. [8] Let u be a non-zero fuzzy submodule of an R-module

M. Then pu <y M if and only if p* < M.

Theorem 2.16. [3] Let u be a fuzzy submodule of M. If o is a relative
complement for p in M then pn@® o <y M.
Theorem 2.17. [8] For a fuzzy submodule 0, the following are equiva-
lent:
(i) 0 is semisimple,
(ii) d has no proper essential submodule,
(iii) Fvery submodule of § is a direct summand of 0.

Remark 2.18. [10] If z € M, then xr (D X{4} is a fuzzy submodule of M
generated by Xy, and in this case,

XE O X{z} = (X{z}) = X({z}) = XRz-
Definition 2.19. [{] Let N be a submodule of an R-module M.

(i) N is said to be e-small in M (denoted by N <. M), if
N+ L =M with L < M implies L = M.

(ii) N is said to be s-essential in M (denoted by N <g M), if
NNL=0with L « M implies L = 0.

Definition 2.20. [10] Let M be an R-module and let y € L(M). Then
w is said to be a small L-submodule of M, if for any v € L(M) satisfying
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v # xn implies g+ v # xp and is denoted by p <y M. If L = [0, 1],
then p is called a fuzzy small submodule of M and is denoted by notation
<Ly M.

Definition 2.21. Let M be an R-module and let y € L(M). Then p is
said to be an essential L-submodule of M, if for any v € L(M) satisfying
uNv = xp implies v = xy and is denoted by p <p, M. If L = [0, 1], then
p is called a fuzzy essential submodule of M and is denoted by u <y M.

3. Fuzzy essential-small submodules

In this section, we introduce the concept of a fuzzy essential-small
submodule. We obtain some properties of this concept. Now onwards
all the fuzzy sets involved in this paper have finite images.

Definition 3.1. Let M be an R-module and let pu € L(M). If for any
essential submodule o € L(M), u+ o = xp implies that o = xyr,
then g is said to be a e-small (essential-small) L-submodule of M and
is denoted by u <. M.

If L = [0,1], then p is called a fuzzy e-small submodule of M and is
denoted by p <o M.

Theorem 3.2. Let p € F(M). Then pn <o M if and only if p, <e M.

Proof. Assume that p <y, M.
Let N be an essential submodule of M such that p, + N = M. (I)
We define an fuzzy submodule oy as follows:

_J1, ifz €N,
U(N)_{o, if & N.

Then by Theorem 2.13, o is a fuzzy essential submodule of M.
Clearly, o, = N.
Therefore, from (I) we get p. + o, = M.
This implies (+ o)« = M and so p+ o = x .
But, given that u <y, M.
Hence 0 = xps and so, 0. = M.
Thus, N = M and so p, <. M.
Conversely, assume that p, <. M.
Let o <y M be such that p+ o0 = xu.
Then (u+ o). = M implies that . + o, = M.
But, given p. <. M.
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Hence o, = M and so o = x ;-
Thus, p <ge M. O

We note that every fuzzy small submodule of an R-module is a fuzzy
e-small submodule. However the following example shows that the con-
verse need not be true.

Example 3.3. Let R =7, M = Zoy4.
Define p: M — [0, 1] by,

) {1 ifwe 0816}
xTr) =
a a,if o ¢ {0,8,16}, where 0 < o < 1.

We note that p, = {0,8,16} is an e-small submodule of Zsy.
Hence, p is a fuzzy e-small submodule of Zy4 by Theorem 3.2.
But, u. = {0,8,16} is not a small submodule of Zy4 and so by Theorem
2.14, p is not a fuzzy small submodule of Zoy4.

Theorem 3.4. Let A < M. Then A <. M if and only if xa <ye M.

Proof. Assume that A <. M.
Let p € F(M) be such that p <y M and p+ x4 = xum-
This implies that (p+ xa)« = M.
Hence by Proposition 2.11, pu, + A = M.
But A <. M and so . = M.
Hence, = xas-
Thus, x4 <y M.
Conversely, assume that x4 <. M.
Suppose that A is not an e-small submodule of M.
Then there exists B < M such that A+ B = M with B # M.
Clearly, xa # xm and x5 # XM
Any xz € M can be written as x = a + b for some a € A and b € B.
We have

(xa+xB)(@) =V{xaAxB|p.g € M,p+q=2x}>xala) +xp(b) =1.

This implies x4 + xB = XM-
Since x4 <je M, we get xp = xu and so B = M, a contradiction.
Hence, A <, M. O

Theorem 3.5. Let f : M — N be an epimorphism and p be a fuzzy
subset of M. If p <o M, then f(pn) <ge N.

Proof. Let 0 ¢ N be such that f(u) +0 = xn.
Then (f(u) + o)« = N and so by Proposition 2.11 , f(u). + 0. = N.
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Hence by [[11], Lemma 3.8], f(us) 4+ 0« = N. (I)
As 1 < ¢ M then by Theorem 3.2, p. <. M.
Since f: M — N is an epimorphism, we conclude

from [[1], Proposition 2.5(2)] that f(u«) <. N. (II)
Now from (I) and (II), we get o, = N. Thus o = xn.
Hence, f(u) <fe N. O

Theorem 3.6. Let pi,0 € F(M). Then p <se M and o <5 M if and
only if p+o <pe M.

Proof. Suppose that y <y M and 0 <y, M.
Let 6 Iy M be such that (u+0) 40 = xum.
As p < e M, we get (0 +0) = xum-
Since 0 <y M, we get § = x .
Thus, p+ o0 <ype M.
Conversely, assume that p + o <. M.
Let o <y M be such that pu + o = x.
Then xpr = p+a C (p+0) + a.
But always (1 +0) + o C xm.
Therefore, we get (1 + o) + o = xu.
As p+o <y M, we get o = x.
Hence, p <y M.
Using similar arguments, we get o0 <y, M. O

Theorem 3.7. Let p,v € F(M) be such that u C v.
If v <pe M, then pn <y M and ﬁ < fe X%

Proof. Let p,v € F(M) be such that p C v.

Then p, and v, are R-submodules of M such that . C vy .

As v <y, M, then by Theorem 3.2 we conclude that v, <. M.

Then by using [[1], Proposition 2.5(1(a))],

we get py < M and Z—’; < %

Thus by Proposition 2.12, we get p. < M and (7). < (%)*

Hence by Theorem 3.2, we conclude that u <y, M and ﬁ <fe % ]

We recall some definitions.

Definition 3.8. [10] A fuzzy submodule o in M is called a fuzzy direct
sum of two fuzzy submodules p and v if c = pu+ v and pNv = xp.

Definition 3.9. [10] Any p € F(M) is called a fuzzy direct summand
of M if there exists a v € F(M) such that xs is a fuzzy direct sum of

1, V.



Fuzzy Essential-Small Submodules and Fuzzy Small-Essential Submodules 59

Theorem 3.10. Let p,6 € F(M). Suppose that p is a fuzzy submodule
of 6. Then the following statements are equivalent:

(i) p<ge 6.
(ii) If o + = X, then o is a direct summand of 0.

Proof. (i) = (ii): Let § € F(M) be a relative complement of ¢ in 4.
Then by Theorem 2.16, we get @ o < 6.

Since, B+ 0+ p = xu and p <y, 6. This implies 8+ o0 = x .

Thus o is a direct summand of §.

(i1) = (i): Let £ <y d and £ + p = xar- Then £ is a direct summand of
d, 80 £ = xp and thus, p <y 9. O

4. Fuzzy small-essential submodules

In this section, we introduce the concept of a fuzzy small-essential
submodule and prove some results.

Definition 4.1. Let M be an R-module and p € L(M). If for any small
submodule o € L(M) satisfying u N o = xp implies that o = xyp, then
 is said to be a s-essential (small-essential) L-submodule of M and is
denoted by p <gp, M.
If L =[0,1], then p is called a fuzzy s-essential submodule of M and is
denoted by p <y M.

Theorem 4.2. Let € F(M). Then p <ps M if and only if p* <3 M.

Proof. Let i <J¢s M and A be a small submodule of M.
Suppose that p* N A = {0}. Then (uNxa)* ={6}.
Hence, N x4 = xo-
But p Jfg M implies that x4 = xg.
Hence A = {#}. Thus p* < M.
Conversely, assume that p* <g M.
Let v be a fuzzy small submodule of M such that u N~ = xy.
Then (nN~v)* = {0} and so p* N~* = {A}.
Since, p* <5 M we get v* = {0}.
Hence v = xp. Thus u <y, M. O
Every fuzzy essential submodule of an R-module M is a fuzzy

s-essential submodule of M. However, the following example shows that
converse need not be true.

Ezxample 4.3. Consider the ring R = Z and its module M = Zoy.
Define p: M — [0, 1] by,
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1, if =0,
u(x) =<0.9,if v €{3,6,9,12,15,18,21},
0, if x ¢ {3,6,9,12,15,18,21}.
Then p* = {0,3,6,9,12,15,18,21} is an s-essential submodule of Zoy
and so p is a fuzzy s-essential submodule of M by Theorem 4.2.
Consider, the fuzzy submodule o of M defined by
1, ifx =0,
o(z) =<¢0.7,if x € {8,16},
0, if = ¢ {8,16}.
Here, as o, = {0} is small submodule of M, then by Theorem 2.14, o is

a fuzzy small submodule of M. As pNo = xp, but o # xg.
Thus p is not a fuzzy essential submodule of M.

Definition 4.4. A fuzzy submodule y of an R-module M is said to be a
fuzzy simple submodule if for any v € F(M), v C u implies that either
V=g Or V= L.

Definition 4.5. [3] Let p be a fuzzy submodule of an R-module M.
The sum of all fuzzy simple submodules of p is called the socle of u. It
is denoted by Socs(p).

If 1 has no fuzzy simple submodule, then Socy (1) = xo-

w is said to be fuzzy semisimple or fuzzy completely reducible provided
Socy(p) = p, that is; if p is the sum of all its simple submodules.

Clearly, xy is a fuzzy simple submodule.

Theorem 4.6. If§ is a fuzzy semisimple, then xg is the only fuzzy small
submodule of §. Also, xnr is the only fuzzy essential submodule of J.

Proof. As § is fuzzy semisimple, then by Theorem 2.17 there exists a

fuzzy submodule p of ¢ such that § & p = x- (I)
If 6 is fuzzy small, then u = x s and so § = yp.
If ¢ is fuzzy essential, then from (I), u = xg and so § = x - O

Theorem 4.7. Every fuzzy submodule of a semisimple module is an
s-essential submodule.

Proof. Let M be a semisimple module. Let p € F(M) and v be fuzzy
small submodule of M with N~y = xg. Since M is semisimple, yg is
the only fuzzy small submodule of M. Hence v = xg.

Thus p is an s-essential submodule of M. O
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Theorem 4.8. Let M and N are R-modules and f : M — N be a
module homomorphism. Let ji be a fuzzy subset of N. If p lys N, then

) <ps M.

Proof. First we shall prove: f~'(u*) = (f~1(u))*.

We note that if x € (f~1(u))*, then (f~1(u))(x) > 0.

This implies that u(f(x)) > 0.

Hence f(z) € p* and so z € f~1(u*).

Therefore, /(i) C (/1 (1))".

By using similar arguments, we get (f~(u))* C f~1(u*).

As pn <y N, then p* < N.

Hence by [[1], Proposition 2.7(2)], we get f~1(u*) <5 M.

This implies that (f~(u))* < M and so f~(u) <ps M. O

Theorem 4.9. Let M be an R-module and A < M. Then A <; M if
and only if x4 Jps M.

Proof. Suppose that A <, M.
Let 1 <y M be such that N xa = xs.
This implies that (uNxa)* = {0}.
Hence p* N A = {6}.
As A <y M we get, p* = {6} and so u = xp.
Hence, xa <y, M.
Conversely, suppose that x4 <Jys M.
If possible, assume that A is not an s-essential submodule of M.
Then there exists a small submodule B of M with B # {6} such that
AN B ={#}. This implies that x4 N xB = Xs-
Since x4 Jys M, we conclude that xp = xy.
Hence B = {0}, a contradiction.

Thus A <, M. U

Theorem 4.10. Let i, o be fuzzy submodules of an R-module M.
Suppose that p C o. If p pg M, then p Q¢ 0 and o Jps M.

Proof. Suppose that g is a fuzzy small submodule of M such that § C o
and p N B = xs.

Since pu Jype M, we get 3 = xg.

Hence, p g 0.

Let n be a fuzzy submodule of M such that o Nn = xy.

Then pNn = xg. Since u Jys M, we get 1 = .

This implies that o <, M. O
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The following example shows that the converse of Theorem 4.10 does
not hold.

FEzxzample 4.11. Consider the ring R = Z and its module M = Z1,.
Define p, o and 0 from M to [0, 1] as follows:

1,if x =0,
p(z) =< 0.5, if z € {4,8},
0,if z ¢ {4,8).

1, ifx =0,
o(x) =<0.7,if z € {2,4,6,8},
0, if = ¢ {2,4,6,8}.

1,if x =0,
d(z) =404, if =6,
0, if = #£ 6.

We note that 4 C o, p dps 0 and o Jps M, p is not an s-essential
submodule of M and § is a fuzzy small submodule of M.
We have § # xp but N & = xp, which implies that p Lrs M.

Theorem 4.12. Let pu, o € F(M). Then (uNno) Jgs M if and only if
pups M oand o Jps M.

Proof. Assume that (uNo) <ps M.
Let 0 be a fuzzy small submodule of M such that uNé§ = xyp.
We have, (uNo)Néd C puNo = xg which implies that (uN o) Nd = xp.
Since (uNo) Dps M, we get § = xp.
Hence, p g M.
Suppose that « is a fuzzy small submodule of M such that a N o = yp.
We have (uNo)Na=pN(anNo) C anNo = xp which implies that
(1No)Na= .
Hence, a = xy and so, o <ys M.
Conversely, assume that p Jps M and o <pg M.
Let v be a fuzzy small submodule of M such (uNo) Ny = xp.
We can write pN (o N7vy) = xo.
This implies that o Ny = xg and so v = xy.
Hence, (nNo) Jys M. O
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5. Jacobson L-radical and L-socle L-submodules

In this section, we characterize the generalized L-radical and L-socle
as the sum of all essential-small L-submodules of an R-module M and
as the intersection of all small-essential L-submodules of an R-module
M respectively.

Definition 5.1. [6] Let L be a complete Heyting algebra. An element
a € L—{1} is called a maximal element, if there does not exist ¢ € L—{1}
such that a < c¢ < 1.

Theorem 5.2. [10] Let p € LM. Then u is a mazimal L-submodule of
M if and only if p can be expressed as p = xu, U apr, where py is a
maximal submodule of M and « is a maximal element of L — {1}.

The proof of the following lemma is similar to the proof of [[10],
Lemma 5.3] and so it is omitted.

Lemma 5.3. Let M be an R-module and x € M.
Then x(gy is in the sum of all essential-small L-submodules of M if and

only if xr O X{2y <er M.

Definition 5.4. Let M be an R-module. We define

(i) Rader (M) as the intersection of all essential L-submodules of M
which are maximal in M, and

(ii) Socs,(M) as the sum of all small L-submodules of M which are
minimal in M.

Theorem 5.5. Let M be an R-module. Then Rad.r,(M) is the sum of
all essential-small L-submodules of M.

Proof. Let £ be the sum of all essential-small L-submodules of M.

Let 6 € L(M) be an essential-small submodule of M.

Suppose that o <y M is maximal in M.

Then § < g, for otherwise, o0 + d = x -

Since § <., M, we have 0 = x s, a contradiction.

Thus, ¢ is contained in every essential L-submodule of M which is also
a maximal L-submodule of M.

Hence, £ C Rader,(M). I
On the other hand, it follows from Lemma 5.3, that x ;1 C Rader(M).
Suppose that xr () X{z} is not an essential-small L-submodule of M.
Let,

T:{UEL(M)‘ V#XM7 vy MaXR@X{m}+V:XM}
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Then 7 # ¢, as v € T.

Now, for each o € 7, 0 # xnm, 0 I M and x4 Zo.

We note that any proper L-submodule containing v is also in 7 and
(1,C) forms a poset. Clearly, the union of members of a chain in 7 is
again a member of 7.

Hence by Zorn’s lemma, 7 has a maximal element, say pu.

Claim: p is a maximal L-submodule in M.

If not, there is an L-submodule § in M such that 4 C d C M.

Thus, xu C 5+XR®X{90} and § <j, M.

Hence, § € 7, a contradiction to the maximality of u.

So p is maximal in M and p Jp M.

Thus, X{z} - RadeL(M) C p.

Now xr () X{z} + # = xm implies that u = xas, a contradiction.

So, Xr @ X{z} Ler M.

Hence, Rad.; (M) C €. (II)
Therefore from (I) and (II), Rader, (M) is the sum of all essential-small
L-submodules of M. O

Corollary 5.6. If any proper essential L-submodule of M is contained
in a mazimal L-submodule of M, then Rad.r(M) is the unique largest
essential-small L-submodule of M.

Proof. Let u be a proper essential L-submodule of M.

Suppose that p # xas-

Let ¢ be a maximal L-submodule of M such that u C o, then o < M.
By the definition of Rad.r(M), Rad.r,(M) C o.

This implies Rader,(M) + pu C o + p. (I)
Since pu C o from (I) we get Rad.p (M) +p C o C xum-
Thus, RadeL(M) Lo, M. O

Remark 5.7. The existence of the Rad.r, (M) depends on the existence
of an essential L-submodule which is maximal.

If we take L = [0, 1], then L — {1} does not have a maximal element.
Hence by Theorem 5.2, a maximal L-submodule of M does not exist.
Therefore, the assumption of the existence of a maximal element in
L — {1}, in Theorem 5.5 is necessary.

Ezample 5.8. Let L = {0,0.2,0.4,0.6,0.8,1}. Then L is a complete
Heyting algebra and 0.8 is a maximal element of L — {1}.

Consider the module M = R @ R of the ring R = Zg of integers
modulo 9.
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Define o : M — [0, 1] as follows:

1, if z € {(0,0),(0,3),(0,6), (3,0),(6,0), (3,6), (6,3), (3,3),

O'(l’) _ (676)}7
0.8, if x € {M — ((0,0), (0, 3),(0,6),(3,0),(6,0), (3,6), (6,3),

(3,3),(6,6))}.
Here, 0* = M is an essential L-submodule of M.
Hence by Theorem 2.15, o <, M. I
Also, o, = {(0,0),(0,3),(0,6),(3,0),(6,0),(3,6),(6,3),(3,3),(6,6)} is a
maximal submodule of M and o = x,, U0.8);.
By Theorem 5.2, ¢ is a maximal L-submodule of M. (II)
Thus, from (I) and (II), o is an essential L-submodule which is maximal
and in fact, it is the only essential L-submodule which is maximal and
so Rad.r,(M) =o.
As, 0, <. M, it follows from Theorem 3.2 that o <.;, M.
Thus, Rad.r,(M) <. M.

Theorem 5.9. Let M be an R-module. Socsy,(M) is the intersection of
all small-essential L-submodules of an R-module M .

Proof. Let ¢ be the intersection of all small-essential L-submodules of
M.

Let p,0 € L(M) be such that u <55, M and o < M is minimal in M.
Then o < pu, otherwise, o N p = xp.

Hence, ¢ = xy, a contradiction.

Thus Socsr,(M) C (.

Also, ¢ € Socsr,(M), thus Socsr, (M) and ¢ are semisimple L-modules.
If ¢ ¢ Socsr,(M), there exists a simple L-submodule ¢ such that § < ¢
and ¢ is not small in M.

Let v # xar be a L-submodule such that § + v = xas.

(i): If 6 N # xp, then 6 Nv = § (since, ¢ is a simple L-submodule).
Hence § C v. Thus, v = xu, a contradiction.

(ii): If 6 N v = xp, then xpy = B v.

To show that v <7, M.

Let 0 < M and v No = yg.

Then g + v is a proper L-submodule of M.

As 0 <1, M and v No = xy, we have 0* < M and v* No* = {0}.
Hence ¢* + v* is a proper submodule of M.

Hence o* = (0 4+ v)*/v* is a submodule of M /v*,

where M /v* = 6* is a simple submodule.
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Thus, o* = {6}, which implies that o = xg.

Therefore, v <g;, M. Hence, § C ( C v.

Since d + v = s we get v = xs, a contradiction.

From (i) and (ii), we have, N v = xp and § N v # xp which is a
contradiction.

Thus, ¢ = Socs.(M). O

Corollary 5.10. If any non-zero small L-submodule of an R-module
M contains a minimal L-submodule of M, then Socsr,(M) is the unique
least small-essential L-submodule of M.

Proof. Let v be a non-zero small L-submodule of M.

If v # xg and if ¢ is a minimal L-submodule of M such that § C v,
then 6 <7 M.

By the definition of Socsr,(M), 6 C Socsr,(M).

Hence 6 Nv C Socsr, (M) Nw. (I)
But, § C v gives § CvNé.

Thus, (I) becomes, xg # 6 C Socsr,(M) Nv.

Hence Socgr, (M) <s1, M. O

6. Conclusion

In this paper, we have studied various properties of fuzzy essential-
small and fuzzy small-essential submodules of an R-module M and also
characterize the generalize L-radical and L-socle of an R-module M.
Further, these concepts can be used to study fuzzy essential-small
submodules relative to an arbitrary submodule and fuzzy small-essential
submodules relative to an arbitrary submodule.
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